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INTRODUCTION TO TRIGONOMETRY

Exercise 8 1

1. In , right angled at B, AB = 24 cm ,BC = 7 cm.

Determine :- sinA, cosA.

Watch Video Solution

△ ABC

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TZFE4UT1jJWj


2. In , right angled at B, AB = 24 cm ,BC = 7 cm.

Determine :- sinC, cosC.

Watch Video Solution

△ ABC

3. In fig., find tan P - cot R. 

Watch Video Solution

https://dl.doubtnut.com/l/_A5XaKRzTHocW
https://dl.doubtnut.com/l/_p75wK4CCSEYN
https://dl.doubtnut.com/l/_uEJXLEX0kPCf


4. If sin A =  calculate cos A and tanA.

Watch Video Solution

3

4

5. Given 15 cot A =8, find sin A and sec A.

Watch Video Solution

6. Given , calculate all other trigonometric

ratios.

Watch Video Solution

sec θ =
13

12

https://dl.doubtnut.com/l/_uEJXLEX0kPCf
https://dl.doubtnut.com/l/_RDxpJo8iQuLn
https://dl.doubtnut.com/l/_7MjYsnHjBXub


7. if  and  are acute angles such that cos A = cos B ,

show that  .

Watch Video Solution

∠A ∠B

∠A = ∠B

8. If  evaluate :-  .

Watch Video Solution

cot θ =
7
8

(1 + sin θ)(1 − sin θ)

(1 + cos θ)(1 − cos θ)

9. If  evaluate :-  .

Watch Video Solution

cot θ =
7
8

cot2 θ

https://dl.doubtnut.com/l/_krtsGgyyY4UV
https://dl.doubtnut.com/l/_mHMGNXNQmLEj
https://dl.doubtnut.com/l/_vZNbJPUX8oUw


10. If 3cotA=4, check whether 1-tan ^2
A/
1+tan ^2
A
 ​	=cos ^2

A−sin ^2
A or not

Watch Video Solution

11. In triangle ABC, right angled at B, if tan A =  . Find the

value of :- sin A cos C + cos A sin C.

Watch Video Solution

1

√3

12. In triangle ABC, right angled at B, if tan A =  . Find

the value of :- cos A cos C -sin A sin C.

Watch Video Solution

1

√3

https://dl.doubtnut.com/l/_QB6rK7twOtKQ
https://dl.doubtnut.com/l/_20xkr2Qqo47L
https://dl.doubtnut.com/l/_EqWrKzOuh1jd
https://dl.doubtnut.com/l/_BuPnpRgL7zcm


13. In , right angled at Q, PR + QR = 25 cm and PQ =

5 cm. Determine the values of sin P, cos P and tan P.

Watch Video Solution

△ PQR

14. State whether the following are true or false. Justify your

answer. :- The value of tan A is always less than 1.

Watch Video Solution

15. State whether the following are true or false. Justify your

answer. :- sec A =  for some value of angle A.

Watch Video Solution

12

5

https://dl.doubtnut.com/l/_BuPnpRgL7zcm
https://dl.doubtnut.com/l/_CFRBwlkIATKe
https://dl.doubtnut.com/l/_T9Ap5sN8jVhH
https://dl.doubtnut.com/l/_NpanX28TEiVF


16. State whether the following are true or false. Justify your

answer. :- cos A is abbreviation used for cosecant of angle A.

Watch Video Solution

17. State whether the following are true or false. Justify your

answer. :- cot A is product of cot and A.

Watch Video Solution

18. State whether the following are true or false. Justify your

answer. :-  for some angle  .

Watch Video Solution

sin =
4

3
θ

https://dl.doubtnut.com/l/_NpanX28TEiVF
https://dl.doubtnut.com/l/_Nf5WLca6uqeu
https://dl.doubtnut.com/l/_KrbLeTgdbsDN


Exercise 8 2

1. Evaluate the following : 

Watch Video Solution

sin 60∘ cos 30∘ + sin 30∘ cos 60∘

2. Evaluate The following : 

Watch Video Solution

2 tan2 45∘ + cos2 30∘ − sin2 60∘

3. Evaluate The following : 

Watch Video Solution

cos 45∘

sec 30∘ + cos ec30∘

https://dl.doubtnut.com/l/_UdmzFYdP3sqJ
https://dl.doubtnut.com/l/_pQueAEHwimh6
https://dl.doubtnut.com/l/_p4W2rns22GQB
https://dl.doubtnut.com/l/_VZfNurWwkjrc


4. Evaluate The following : 

Watch Video Solution

sin 30∘ + tan 45∘ − cos ec60∘

sec 30∘ + cos 60∘ + cot 45∘

5. Evaluate The following :

Watch Video Solution

5 cos2 60∘ + 4 sec2 30∘ − tan2 45∘

sin2 30∘ + cos2 30∘

6. If tan(A+B)=  and tan(A-B)=  ,  ,

A>B, find A and B .

Watch Video Solution

√3
1

√3
0∘ ∠A + B ≤ 90∘

https://dl.doubtnut.com/l/_VZfNurWwkjrc
https://dl.doubtnut.com/l/_0GffkVi8YKlE
https://dl.doubtnut.com/l/_j3QOPlLbvzD2


7. State whetherthe following are true or false. Justify your

answer. :- sin (A+B)=sinA+sinB.

Watch Video Solution

8. Stare whether the Following is true or false. Justify your

answer:- The value of sin  increases as  increases.

Watch Video Solution

θ θ

9. Stare whether the Following is true or false. Justify your

answer:- The value of cos  increases as  increases.

Watch Video Solution

θ θ

https://dl.doubtnut.com/l/_yvD44GxN1xld
https://dl.doubtnut.com/l/_Auw3t6XTyc9q
https://dl.doubtnut.com/l/_b4pyJSVsnMdd
https://dl.doubtnut.com/l/_Vmxn4y6hIXPm


Exercise 8 2 Choose The Correct Option And Justify Your

Choice

10. Stare whether the Following is true or false. Justify your

answer:-  for all values of .

Watch Video Solution

sin θ = cos θ θ

11. State whetherthe following are true or false. Justify your

answer. :- cot A is not defined for A =  .

Watch Video Solution

0∘

1. Choose the correct option and justify your choice.:-

.
2tan 30∘

1 + tan2 30∘

https://dl.doubtnut.com/l/_Vmxn4y6hIXPm
https://dl.doubtnut.com/l/_dUD6DuwbzkJe
https://dl.doubtnut.com/l/_wT2fsWSuuAGY


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 60∘

cos 60∘

tan 60∘

sin 30∘

2. 

A. 

B. 1

C. 

=
1 − tan2 45∘

1 + tan2 45∘

tan 90∘

sin 45∘

https://dl.doubtnut.com/l/_wT2fsWSuuAGY
https://dl.doubtnut.com/l/_5hN7XsoSKE5O


D. 0

Answer: D

Watch Video Solution

3. Choose the correct option and justify your choice.:- sin 2A

= 2 sin A is true when A

A. 

B. 

C. 

D. 

Answer: A

h id l i

0∘

30∘

45∘

60∘

https://dl.doubtnut.com/l/_5hN7XsoSKE5O
https://dl.doubtnut.com/l/_3sAJLOzuf92O


Exercise 8 3

Watch Video Solution

4. Choose the correct option and justify your choice.:-

 .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2tan 30∘

1 − tan2 30∘

cos 60∘

sin 60∘

tan 60∘

sin 30∘

https://dl.doubtnut.com/l/_3sAJLOzuf92O
https://dl.doubtnut.com/l/_EGriZn6usNDN


1. Evaluate :  .

Watch Video Solution

sin 18∘

cos 72∘

2. Evaluate :  .

Watch Video Solution

tan 26∘

cot 64∘

3. Evaluate :  .

Watch Video Solution

cos 48∘ − sin 42∘

4. Evaluate :  .

Watch Video Solution

cosec31∘ − sec 59∘

https://dl.doubtnut.com/l/_ROXxv4JnkSDP
https://dl.doubtnut.com/l/_EkfpQR7VLRWl
https://dl.doubtnut.com/l/_1RckOBuCvwxP
https://dl.doubtnut.com/l/_8iQssScoqczB


5. Show that :  .

Watch Video Solution

tan 48∘ tan 23∘ tan 42∘ tan 67∘ = 1

6. Show that :  .

Watch Video Solution

cos 38∘ cos 52∘ − sin 38∘ sin 52∘ = 0

7. If , where 2A is an acute angle,

find the value of A.

Watch Video Solution

tan 2A = cot(A − 18∘ )

https://dl.doubtnut.com/l/_8iQssScoqczB
https://dl.doubtnut.com/l/_hzeyCbie7rEF
https://dl.doubtnut.com/l/_7wea7H3jdndY
https://dl.doubtnut.com/l/_ruzhK6cLImX3


8. If tanA=cotB, prove that A+B=  .

Watch Video Solution

90∘

9. If , where 4A is an acute angle,

find the value of A.

Watch Video Solution

sec 4A = cos ec(A − 20∘ )

10. If A, B and C are interior angles of a triangle ABC, then

show that .

Watch Video Solution

sin( ) = cos
B + C

2

A

2

https://dl.doubtnut.com/l/_lf2wIOymT2Rz
https://dl.doubtnut.com/l/_QqmKjW5Ctsho
https://dl.doubtnut.com/l/_sCkGhXGqgX00


Exercise 8 4

11. Expresssin  + cos  in terms of Trigonometric

ratios of angles between  and .

Watch Video Solution

67∘ 75∘

0∘ 45∘

1. Express the trigonometric ratios sin A, sec A and tan A In

terms of cot A.

Watch Video Solution

2. Write all the other trigonometric ratios of A in terms of

sec A.

∠

https://dl.doubtnut.com/l/_C76GuX35Yk2M
https://dl.doubtnut.com/l/_vNpbP2dOGhu3
https://dl.doubtnut.com/l/_dJmHAhqxtvbw


Watch Video Solution

3. Evaluate :-  .

Watch Video Solution

sin2 63∘ + sin2 27∘

cos2 17∘ + cos2 73∘

4. Evaluate :-  .

Watch Video Solution

sin 25∘ cos 65∘ + cos 25∘ sin 65∘

5. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

 .

Watch Video Solution

(cos ecθ − cot θ)2 =
1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_dJmHAhqxtvbw
https://dl.doubtnut.com/l/_PMS9L2EmVdT9
https://dl.doubtnut.com/l/_v02bssuIhN0N
https://dl.doubtnut.com/l/_5CbHNXZePeWy


6. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

 .

Watch Video Solution

+ = 2 sec A
cos A

1 + sin A

1 + sin A

cos A

7. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

 .

Watch Video Solution

+ = 1 + sec θ cos ecθ
tan θ

1 − cot θ

cot θ

1 − tan θ

8. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

https://dl.doubtnut.com/l/_5CbHNXZePeWy
https://dl.doubtnut.com/l/_IHwhmkmmZojJ
https://dl.doubtnut.com/l/_ACjaP0I4nH9I
https://dl.doubtnut.com/l/_e7fVGufb9xMP


 .

Watch Video Solution

=
1 + sec A

sec A

sin2 A

1 − cos A

9. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

 using the identity 

Watch Video Solution

= cos ecA + cot A,
cos A − sin A + 1

cos A + sin A − 1

cos es2A = 1 + cot2 A)

10. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

 .

Watch Video Solution

√ = sec A + tan A
1 + sin A

1 − sin A

https://dl.doubtnut.com/l/_e7fVGufb9xMP
https://dl.doubtnut.com/l/_EZuMpfbAz2PM
https://dl.doubtnut.com/l/_zhk7M3t1XDh7


Watch Video Solution

11. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

 .

Watch Video Solution

= tan θ
sin θ − 2 sin3

θ

2 cos3 θ − cos θ

12. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

.

Watch Video Solution

(sin A + cos ecA)
2

+ (cos A + sec A)
2

= 7 + tan2 A + cot2 A

https://dl.doubtnut.com/l/_zhk7M3t1XDh7
https://dl.doubtnut.com/l/_ZMbSANqN4egI
https://dl.doubtnut.com/l/_W3u96Rm0kAAP


Exercise 8 4 Choose The Correct Option And Justify Your

Choice

13. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined.

 [Hint

:Simplify LHS and RHS separately]

Watch Video Solution

(cos ecA − sin A)(sec A − cos A) =
1

tan A + cot A

14. Prove the following identities, where the angles involved

are acute angles for which the expressions are defined. :

 .

Watch Video Solution

( ) = ( )
2

= tan2 A
1 + tan2 A

1 + cot2 A

1 − tan A

1 − cot A

https://dl.doubtnut.com/l/_rBzQUCnSIRnO
https://dl.doubtnut.com/l/_HRQj2dRP85Pk


1. Choose the correct option. Justify your choice :

 a. 1
b. 9
c. 8
d. 0

A. 1

B. 9

C. 8

D. 0

Answer: B

Watch Video Solution

9 sec2 A − 9 tan2 A =

2. Choose the correct option. Justify your choice :

(1 + tan θ + sec θ)(1 + cot θ − cos ecθ)

https://dl.doubtnut.com/l/_3MJ41GoJMUeD
https://dl.doubtnut.com/l/_c5YRpYPKxq2B


A. 0

B. 1

C. 2

D. 

Answer: C

Watch Video Solution

−1

3. 

A. 

B. 

C. 

(sec A + tan A)(1 − sin A) =

sec A

sin A

cosecA

https://dl.doubtnut.com/l/_c5YRpYPKxq2B
https://dl.doubtnut.com/l/_ktvShnTiBT2w


D. 

Answer: D

Watch Video Solution

cos A

4. Choose the correct option. Justify your choice :

 a. 
b. -1
c. 
d. 

A. 

B. 

C. 

D. 

Answer: D

1 + tan2 A

1 + cot2 A
sec2 A cot2 A tan2 A

sec2 A

−1

cot2 A

tan2 A

https://dl.doubtnut.com/l/_ktvShnTiBT2w
https://dl.doubtnut.com/l/_nO8JaXlI0HBS


Watch Video Solution

https://dl.doubtnut.com/l/_nO8JaXlI0HBS

